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_ Thelﬁgures in the margin indicdte
- Jull marks for the questions. |
1. Answer the following questions : 1x8=8
(@) Define ‘derived demand’..
oo sy e @
(b) Write the mathematical form of the
C.E.S production function.
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(¢) What is partial factor productivity?
SR Tt SestmrTierel 52

(d) With a 12% interest rate, what is the
- present value of Rs. 120 that wﬂl be
recelved in the next yearo
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- (é)j If X and X, are two posmble outcomes
. ofa risky situation, and P, and P, are

their respective probabllmes ﬁnd the. -

- expected utility.
Mt X, S X, 9ot wRPve SRR ot SR
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g (f); Who is known as the father of game -

theory?
- oo RSt fal‘?ﬁc’l P A I

: ,(g).HWhat is meant by Pareto optlmahty?
2 cem STl et & J@e

(h) 'State the First Fundamental Theorem
: of Welfare Economics.

el YA AT csﬂﬁas eofvnmm t@mﬁ.‘
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‘2.  Answer any six of the followmg questlons

(a) Explaln the concept ‘of marginal -

productivity.
IR @Q‘»’WW YIRENTOI W | |
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(b)

(o)

(@)

~What is a fixed coefﬁc1ent productlon -

functlon ?

4&3@41"?3@&9{1@&?1?{1%?

What does a contract curve 1nd1cate? )

| ORE 99 [ P

If two possible outcomes of a risky
situation are Rs. 100 with probability

- 04, and Rs. 120, what will be the

expected income of the situation? .

% Retwems AR @i ey Tows 100 -

. 5t A iRl T 04, W 120 T T,
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Deﬁne fair gamble with an example

Wﬁaﬁﬂﬂrwxﬂ—wwﬁm

: State two. major dlfferences between :

_monopoly and monopolistic compet1t10n

(9)

™
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Who is a player in Game Theory‘P
(i f3nde P T C’«‘I'G’R??

Explain the concept of social Welfare |
function.
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Define the Kaldor-Hicks compensation
priniciple in  brief.

. roefRs o5 NS WCFCA @IS 41|

Interpret the slope of the transformation
curve. ~

- I @mmwﬂmw'

Answer any four of the following questions :

5x4=20
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(b)
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Discuss how technological progress
changes the position of the production
function. Explain in this context, capital

deepening and labour ‘deepening

technological progress.
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For the Cobb-Douglas productiori

. function Q=AL°K”, show that a+8 -

indicates return to seale.
I9-GAEIR Beola T Q = AL'K” I IR,
G (X + f O ) AR 2w o1 |
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For risk averters, losses are more

important than gain.” Explain the

statement with an example.
“HSP Read) e AR, @R oS
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What is certainty equivalence income

- (CEI)? How is the cost of risk measured

using the CEI? 3+2=5
e srrgey Wi (CEI) &2 CEI 372 IR
Remmizia 2 RCIEE TR 72

Distinguish between the perceived and
proportionate demand curves under

'monopohstlc competltlon Which of

these two curves is flatter and why? .
3+2=5

awsﬁmzrﬁmfﬁﬁaw%— AONIFS Siw
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Taking an imaginary pay-off table,
éxplain the equilibrium in the case of

‘a two-person zero sum game.
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Derive the marginal conditions for
Pareto optlmahty in the context of
product mix. :
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- (h)

'State the Second Fundamental Theorem
of Welfare Economlcs with a su1table

diagram.
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4. Answer any two of the followmg quest1ons .

10x2=20.

wﬁmwﬁmgﬁa@@aﬁm

(a)

Exp1a1n the demand for labour in a

. perfectly competltlve market when— .

(i) labour is the only variable factor

" (i) there are several variable. factors.
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With the help of a suitable dlagram,
explain how the production possibility

frontier is derived for a multi-product .
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(C)

Explain how a consumer w111 choose toA -

+spend ‘her money across two- tlme_"
- periods with a fixed rate of intérest in
order to mamtam equ111br1um N

= aﬁa ﬁslza amm A
'-.(c.l)'v Explaln w1th d1agram, . how " é
T dlscr1m1nat1ng monopohst attalns"- '
- equilibrium. -
- oot wfbat efobi e SR
C AR IR, B e gt
(e) EXplam Walras’s vision of the workmg “
of the economic system. a
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